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1. ROAXZRBOFEEE. (S5, A1 310%, Bfk1540%, C#Hk2330%)

(1) 222 4 5z + 2 (2) 322 + 5xy — 2y°

(3) 522 — 17z + 6 (4) 82 — 2wy — 159>
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2. XOAXZEREREX. (SHk40F, A1 10%, B 1 340, C #2430 )

(1) 3x2 + 10z + 3 (2) 222 — 9y — 5y?

(3) 322 — 11z + 6 (4) 82 — 27xy — 20y>
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REFRA N EBME TEENT 01 BREMRE

1. ROAXZERBOBEE. (SHk45, Afk1510%, Bfk14

* e EHIFOAK
acz?® + (ad + be)x + bd = (ax + b)(cz + d)

a b — be
c >< d — ad
ad + be

(1) 222 +5zx+2 (2)

1 2 —
2><1—>

a| = e

HX = (x +2)(2z + 1)

RACiARES)

B2 ZIER L CHED» D 252 DT X9,
(r+2)2z+1)
=1x222+(I1x1+2x2)x+2x1

=222 + 51 +2
(3) 522—1Tz+6 (4)
1 -3 — -15
) >< -2 — =2
17

HX = (xz — 3)(5z — 2)
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408, CHE2530%)

322 + 5xy — 2y?

LA = (z + 2y)(3z — y)

Wy RN I

82 — 2xy — 159>

2 -3 — -—12
L 10

5 —

5K = (2= — 3y)(4z + 5y)
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2.

222 — 9y — 5y?

1 -5 — 10

2 >< 1 — 1

-9

5K = (z — 5y)(2z + y)
8% — 27wy — 20y

1 -4 — =32

8 >< 5 — 5

—27

ROXZ KRB L. (S0, A1 108, B 15408, C#25 30 )
(1)  322+10z+3 (2)
1 3 — 9
3 >< 1 — 1
10
G = (z+3)(3z + 1)
(3) 3z2—-1lz+6 (4)
1 -3 — -9
3 >< -2 — =2
~11

X = (x — 3)(3z — 2)
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52 = (z — 4y) (8 + 5y)
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